ID: 1

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) —4+|7-2k| <-19 2) ~7|n+7|<35
-8 -7 -6 5 -4-3-2-1201 2 3 4 5 N —:5 —I4 —I3 —I2 —Il (I) i i 5 ;1/
3) 2— |-10p-2| <-10 3a+6
) 2-|-10p-2] N
/: t t t t T T T T T T ) 4
\—4 -3 2 -1 0 1 2 3 4 5 6
\—6 -5 -4 :3 -2 -1 0 1/
5) |4—3x| -6<—4 6) 8+ |2-3r| <-14
\—2 -1 0 1 2 3 4 5/ \—5 —4 —:3 -2 -1 0 1 2 3 4 5 6 7/
|4 3m| 8) —3|8n-3| <-33
7) <1
3 4 } AN
\—6—5—4—3—2—10123456/
\—2 -1 0 1 i 3 4 5/
9) |-9x-3]| +6<93 10) 3 - |-5-4n| <-38
& —> 4+ttt
-12 -8 —4 0 4 8 12 -12 -8 —4 0 4 8 12
11) 9|-9b+9| > 81 12) 7|6+ 9v| > 84
NRJIL I I A B NIRRT A S A I
13) 10+ [5n+8| <58 |8x + 8]
14) 12272050
AR -8 —:4 0 4 8 7
NI IVI I T I
15) -8 — |9v + 8| <29 16) —3|4x+7| >27
-5 4 -3 -2-1 0 1 2 3 4 5 6 7 8 \:7:6:5:4:3:2:16155:1;/
17) |2 +8a| +6<20 18) |7x+ 5| +2<46
\—:3 —I2 —Il (I) i é 5/ -9 8-76-54-3-2-1012 3 4567
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19) [3+7n| +1<26 20) 9|2 —2x| < 54

&—1 1 1 1 1 1 AN 4 AN
S T T T T T T T T T T 7 S T T T T T T T T T T T 7
-5 -4 -3 -2 -1 0 1 2 3 4 5 6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

21) |sp-2|-4<-16 22) 2+ |8-k|<11
&—1 AN
S T T T T T T T T 7
-4 3 -2 -1 0 1 2 3 4 5 -6 -4-20 2 4 6 8 1012 14 16 18 20 22
23) 7|9n-2| =49 |5m -3
24) 121> 5
4 1 AN
N T 7
-4 3 -2 -l 0 1 2 3 4 5
&—1 1 1 1 1 1 1 1 1 1 1 N\
S T T T T T T T T T T 7
-6 -5 -4 3 2 -1 0 1 2 3 4 5
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Answers to Assignment (ID: 1)

1) No solution. :
8-76-5-4-3-2-101 23 45
2) { All real numbers. } : «mlmmbmmjmmjjj—j—j—j—
5 4 -3 2 -1 0 1 2 3 4

7
3)p<—g01‘p>1:(-l—l—|-0|—|—C ——

4 3 2-10 1 2 3 4 5 6

2
4) ——<a<-—
6 -5 4 3 2 -1 0 1
2 6) No solution. :
5) —<x <2 41—l O———>
-2 -1 0 1 2 4 5
7
7) — <m < — : O mm—t—————>
3 3 -2 -1 0 1 2 3 4 5

7
y nz—orn<—1:
4 -6 -5-4-3-2-101 2 3 4 5 6

2
9)—10<x<'?8:<—|—c: e

-12 -8 —4 0 4 8 12

23
10) n<——orn>9 : Dty
2 -12 -8 -4 0 4 8 12
11) b<0orb > 2 : Girirmimpmjen OOy

5 4-3-2-1012 3 456 7
2

12) v>20rv<—§:(-l—l—l—D-l—l—O—l—l—l—l—l-)

4 -3 -2-10 1 2 3 4 5 6 17

56
13)—?31138:(—_120: S ———>

-4 0 4 8
5 13
14) x>—or x < —— ; Gimmimmim——— D=l
4 4 -6 -5 4 -3-2-101 2 3 4 5
15) { All real numbers. } : €immimjmjjj—jjj—j—j—j—j—t—)

5 4-3-2-10123 45678

16) No solution. :

-7 -6 -5-4-3-2-101 2 3 435

39
18) —7st7: A=

22
19) 4<n<—:
7 -5 4 -3-2-101 2 3 4 5 6

20) 2<x<4:

54-32-101234567
21) No solution. :

-4 3 -2 -1 0 1 2 3 4 5
22) -5<k<21:

—-6-4-20 2 4 6 8 1012141618 20 22

5
23) 712101‘713—;:(: A=

4 3 2 1.0 1 2 3 4 5

24) { All real numbers. } : €l

6 -5 4-3-2-101 2 3 4 5

vswssabh-workshees.oryg

-5 4-3-2-101 2 3 45 6 7

math-worksheet.org



Assignment
Solve each inequality and graph its solution.

1) [8-3n| +8<37

A/ T S S B A A
3) —10[5b+9] >-10

D A A e
5 12+

_I5 _I4 —I3 —I2 —Il 6 i 5 ; :‘
7) -1+ |7n+9] <20
8 -7 -6 -5 -4-3-2-10 1 2 3 4 5

9) 2|-8k+8| <80

&—1 1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T T 7
-6 -5 4 -3 -2 -1 0 1 2 3 4 5

11) 8- |10 -m]| > -3
-4 -2 0 2 4 6 8 10 12 14 16 18 20 22 24

13) |2n-1]+3>0

-6 -5 4 -3 -2-10 1 2 3 4 5 6 7

15) —10]6 - 2x| <120

17) -6+ |5-2b| >5
“~t—t+++++++++++r++++++>

-6 -4 -2 0 2 4 6 8 10 12

82T geavspath-worksheeh ory

Name

ID: 2

Date

Period

2) |or-3|+10<43

S e S S L o e
\—5 -4 -3 -2 -1 0 1 2 3 4 5 6/
4) |-ox-3| -8<-11
/: } } } } } } } I\
\—4 -3 -2 -1 0 1 2 3 4/
6) [10x+9| -7<54
-8 -7-6-5-4-3-2-1012 3 456 7
8) 3|—4+8p| =108
-7-6-5-4-3-2-101 2 3 456 7 8
|—x+8|
10) 2L <
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
12) |-3a+8| +4<5
/: } } } I\
\1 2 3 4 5/

14) |7r-1]| - 6> 65

N
A\ 4

18) —6|10—3n| <84

-7-6-5-4-3-2-101 2 3 45 6 7 8

math-worksheet.org



19) -5|7a+ 10| >-90 20) |8-2v|-9>1

Gt ttt—> A
-5 —4 -3 -2 -1 0 1 2 3 -4 2 0 2 4 6 8 10 12 14
21) |3x-3|+3>21 22) 3+ |10x+9| > 62
&~ &~
-8 -6 -4 -2 0 2 4 6 8 10 -10 -8 -6 -4 -2 0 2 4 6 8

23) |-7x+9| -1>36 2 |5+ 10v| <y
&~ -
-8 -6 -4 -2 0 2 4 6 8 10
S ) -1 0 1 2 3 7

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 2)

37
1) -7<n<—:
3 -8 6 4-20 2 4 6 8 1012 14

10
2) ——<r<4:
3 5 4-32-1012 3 45 6

8
3) 2<bh<——: 64— +—00— >
5 —4 -3 -2 -1 0 1 2
4) No solution. : ¢4+—F+—+—+—F—F+—"F—"F+—>
-4 3 -2 - 0 1 2 3 4
2 2
5) v2—orv< —— : Gui—j—j—)— e —j—j—t—
9 3 -5 4 -3 2 -1 0 1 2 3 4
26
6) —7 < x £ — ;| € Ouimimipijij——j—|——-——
5 -8 -6 4 -2 0 2 4 6

7) No solution. :

8) p=Sorp<—4:
9) No solution. :
10) No solution. :
11) -1<m<21:

8-76-54-3-2-101 2 3 435

-6 -4 -2 0 2 4 6 8

-6 -5 4 -3 -2-101 2 3 4 5

-7-6-5-4-3-2-1012 3 45617

-4-20 2 4 6 8 10121416 18 20 22 24

7
12) —<a<3: 6+—+ 0@ + >
3 1 2 3
13) { All real numbers. } : €imimjmjjj—jjj—j—j—j—j—j=)

-6 -5-4-3-2-1012 3 456 17
72
14) r>70rr<—10:(-l—l-o-|—l—l—l—l—|—H—l—O-l—l-)
15) x<-3orx>9: (-|—|-O-I—|—|—|—|—|-o-|—|—|-)

-6 4 2 0 8§ 10 12 14
16) 25<n<29: (—o—_u—n—_:o—l—l—l—l—l—l—l-o—>
17) b<—-3o0rb>8: (-l—l-o 2 : } c8>—1|0—1|2-)

18) { All real numbers. } -(-|-|-|-|-|-|-|-|-|-|-|-|-|-|-|-|-)
8
19) —4<a<7:(—i—C fefe————}—>

S 4 3 -2 -1 0 1 2 3

20) v<-lorv>9: (—l—l-o-|—|—|—|—|-o-|—|—.-)

10 12 14
21) x>T7orx<-5: (—l—l-o-l—l—|—|—|—|-o-|—|—)
-8 6 4
34
22) x>5orx <~ EAEROEHT O T
46
23) x<—4 01 x > — ; Gt Ol
7 -8 6 4 -2 0 2 4 6 8 10
13 3
24) —— < v < — ;| S P——————1>
10 10 -3 -2 -1 0 1 2 3

s mabh-worksheeh.ory
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ID: 3

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) [9+9n| -6>39 2) 4|8k +8| <96
“—~4—tt++—t++t+—t+t+t+++++++++> “—~t—t—t+——t+——t+—t+—t+—+—+—+—+—++>
-10 -8 -6 -4 2 0 2 4 6 \—5 -4 -3 -2 -1 0 1 2 3 4 5 6 17
7X+ 8 7+
SPUELIE o el
7 10
-9 -8-7-6-5-4-3-2-101 2 3 45 6 7 \—I4 —I3 —I2 —Il (I) i 5 ; :l/
5) —6/5+ 10n| >—30 6) |-2-m|-10>-11
I T AR VLI S S I S
7 =7|-3 - x| >—49 In—1]
8) >3
2
-12 -10 -8 -6 -4 2 0 2 4 6
Slo8 6 4 2 0 2 4 6 8 10
9) —5|2r— 1| > -65 10) 4|1+ 10n| > 76
&~ & >
-8 -6 -4 =2 0 2 4 6 8 -7 6 -5 4 3 -2 -1 0 1 2 3 4 5
11) |5x-2| + 1248 12) |8v-2| -1>-75
A R R A
-12 -8 —4 0 4 8 12 -6 -5 4 -3 -2 -1 0 1 2 3 4
13) [10p+ 10| +5>—45 14) -9+ |6b+4| <19
NJIVIIL S S A B
|3a+ 10| 16) |6x+9| +10>67
15) ——1>3
“~4—tt+t+—t+—t+—t+—t+—t+—t+—t+—t+—t+—+—>
-16 -12 -8 -4 0 4 8
AR S T T A B
|6k + 10 18) —7|5m+9| > 42
17) ——>4
NS S S S

W2 gegevs path-siorksheeh.ory th-worksheet
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|2+ or| o 20) |9 +8x| —4>-93

19)
NI S S S A S
-9 -8-7-6-5-4-3-2-1012 3 456
21) 8/8+9n|>8 22) 8|-2b—10| > 112
NI S S T S P PR P PO S /R S
23) —3|-6v—-5| <69 |-6n +7|
20y "
&~
-8 -6 —4 -2 0 2 4 6 8
¢ >

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 3)
1) n>40rn<—6 : Guimmpum) } o

-10 -8 -6 —4 -2 (.) 5 4 6
2) 2<k<4:

-5 4-3-2-101 2 3 45 6 17

27 43

3) x>—orx < —— : im0~ Omlmpmimds
7 7

-8 6 4 -2 0 2 4 6

4) { All real numbers. } ("—'—'—'—'—'—'—'—"’

5) -1<n<0: : O—O—I—I—)

—4 3 -2 -1 0 1 2
6) { All real numbers. } : (_.8 i _.5_.4_.3 e Z)
7) =10 < x <4 ; €O mmjmmjm} e O——>

-12 -10 -8 —6 —4 —2 0 2 4 6
8 n>Torn<-5:
-8 4 0 4 8

9) 6<r<7: <—|—o—|—|—|—|—|—|-o-|—>

8 6 -4 -2

10) n>—01n<—7 O o m® e . 2

-7-6-5-4-3-2-101 2 3 45

49
11) xz—orxs—9:(—|-|o|—|—|—|—|—|—|—|—|-o-|-|-)»
5 0 4 8 12

12) { All real numbers. } : 4
13) { All real numbers. } : =

—6—5—4—3—'2—.1(')ii§:1)
---..---’

-5-4-3-2-'15 1 2 3 4 5 6

14)—%sbs4:(—|—|—|-¢::::::::

8-76-54-3-2-1012 3 456

4 16
15) az——ora<——:
3 3 8 -7 6 -5 4 2-10 1 2 3

16) x>8orx<—11: (—l—l—i.H—l—l—l—H—l—l-.-l—)

-16 -12

11
17)k>?01k< =7 (—l—l-o >

-10 -8 -2 0 2 4 6

18) No solution. : <—|—|—|—|—|—|—|—|—|—|—|—>

-6 5 4 3 2 -1 0 1 2 3 4

34 38
19) r>—orr < —— : Gttt ——————— Gt=i=P
9 9 -8 6 4 =22 0 2 4 6
20) { All real numbers. } : (_5 bt ] 2 t i)
7
2) n>—301n< -1 ‘-5-4-3 -290 - ’
2 2: 1+ : v
22) b<-12o0rb = ( ——+——+ -+ )
14
23) v<——orv=3: (—n—l-ﬂ—l—|—|-o-|—|—|-)
3 8 6 4
2 5 a 2 2 a 2 2 2 a

s mabh-worksheeh.ory
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ID: 4
Name

Assignment Date Period

Solve each inequality and graph its solution.

y =1l 2 [2a—1]+63 19
10 L

\ T : : : : : T T T T T
-10 -8 -6 -4 -2 0 2 4 6 8 10

A\ 4

-7 -6 -5-4-3-2-1012 3 4 5 6 7

|8 - x| 4) 9|3x-2| <63
3) <5
3 /: } } } } } } } |>
\—3 -2 -1 0 1 2 3 4 5
D i I e o o o o e e o e o e e e e
-8 —4 0 4 8 12 16 20 24
5) 3—|10-2k| >7 6) 6|—1—-10x| <6
-7 6 -5 4 -3 -2-10 1 2 3 4 5 6 -7 -6 -5-4-3-2-101 2 3 4 5 6 7
30— 10| 8) 10 + |6+ 10k| <46
7)<
9 4 } AN
\—5 -4 3 -2 -1 0 1 2 3 4/
S22 10 1 2 03 4 5 6 1 8 9
9) —3|10+ 10n| < 60 10) |2x+ 10| +8<14
NIV S S N L SR S S
11) |6+ 10p| +6<32 4m+9
) lo+10p] g 1ol s
NI IR R S S T S
o
13) =2+ |-9x+ 9| <97 |8 +or|
14) 2271 <5
e ———t——— > 4
N -8 —4 0 4 8 12
Y% s o4 3 2 -1 0 1 2 7
15) |-6n+4| +6<28 |6+ 8b|
16) <3
2
-6 5 4 -3 -2-10 1 2 3 4 5 6 7
\—2 -1 (I) 1 2 3/
17) 10+ |7x— 1] <65 |2v -8
18) 3 <-4
&~
-8 -6 -4 2 0 2 4 6 8 10

W2 gegevs path-siorksheeh.ory th-worksheet
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19) |-4a-1]|+8<15 20) |k +9| —9<-11

&—1 AN &—1 1 1 1 1 1 1 1 AN
S T T T T T T T 7 S T T T T T T T T T T 7
-5 -4 -3 -2 -1 0 1 2 3 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4

10 — 4x| 22) —10|-5p—1] > 60
21) — 2 o

-6 -5 -4-3-2-101 2 3 4 5 6 7 8

&—1 1 1 1 AN
S T T T T T T T T T T 7

-3 2 -1 0 1 2 3 4 5 6 7 8

|-1-10x| |2n - 10|
23) I — "l o5 24) 15— 1o

4 7

&—1 1 1 N
S T T T T T T T T T T 7

-6 -5 4 -3 =2 -1 0 1 2 3 4 5 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 4)
1) { All real numbers. } : ‘_74_5_4_3_2_1 bttt 7)
2 azTora<—6:
8 4 0 4 8

3) -7 < x < 23 ;| €—Onimml—i———_—
10 -5 0 5 10 15 20

5
4)—;<x<3:<—_l3—_l2<)_:1 e ———>

0 1 2 3 4 5

5) No solution. : 6) No solution. :

-7-6-5-4-3-2-101 2 3 45 6 -7-6-5-4-3-2-1012 3 45 617

1 19
7) —<n<—:
3 3 -2 -1 0 1 2 3 4 5 6 7 8 9

21
8) ——<k<3: €«+C
5 -5 4
9) {Allrealmunbers.}:‘_:d L e é)
10) 8<x<-2: €+=0 e ——

-3 -2 -1 0 1 2 3 4

7 6 -5 -4 -3 2 -1

16
11) —?<_p<2:

3
12) —63ms;:<—|—|—|—o: e

13) —10 < x < 12 ;| €O rmjrmjummnjmsfsfejsjsfemspe O—f—
-8 —4 0 4 8 12
28
14) ——<r<i:<—|—|—|—o—|—|—|—|o—|—>
9 3 -6 -5 4 -3 -2 -1 0 1 2
13
15) -3 <n <— : €——Omjmmjjmjmj
3 -6 -5-4-3-2-1012 3 456 17
3
16) —— <b <0 : €—Ommimmmm_ t i >
2 -2 -1 0 1 2 3

18) No solution. :
-5 4-3-2-1012 3 456 17

3
19) -2 < a <= : €Ol O—4——>
2

2 -5 4 3 -2 -1 0 1 2 3
20) No solution. :
-7 6 -5 -4-3-2-101 2 3 4
21) -1 <x <6 : €——Ommpmmjum o)

3210123456 7 8
22) No solution. :

-6-54-3-2-101 2 3 456 7 8

21 19

23) X<——0r X > — : dejmjmmjmmpe O——— Ol
10

10 -6 -5 4-3-2-101 2 3 4 5

17 3
24y n>—orn<—:
2 2

-2-101 2 3 45 6 7 8 91011

vswssabh-workshees.oryg
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Assignment
Solve each inequality and graph its solution.

1) 10/1+ 10n| <-90

A\ 4

(: L] L] L] L] L] L] L] L]
—4 -3 -2 -1 1] 1 2 3 4
3) 8+ |m+6| <12

&—1 1 1 1 1 1 1 1 1 1 1
S T T T T T T T T T T
11 =10 -9 -8 -7 -6 -5 -4 -3 -2 -l

A\ 4

|4b+ 10
5) - 155
5
\—5 -4 -3 —:2 -1 0 1 2 3 4 e
7) |8 +9v| +3<-88
AR T A A
9) —10(8a+ 1| >-10
A o 0 ! 2
|—4n + 2
1) <1
\74 -3 -2 —:l 0 1 2 3 7
|-8x — 3]
13) <4
\—4 -3 -2 -1 (:) 1 2 3 4 -

N
A\ 4

82T geavspath-worksheeh ory

Name

ID: 5

Date Period

2) 2|4x + 10| >-36

-8 -7-6 5-4-3-2-10 1 2 3 4 5

4) |8r+10] +4<62

10 -8 -6 -4 -2 0 2 4 6

6) 8+ [3+x| <14
D L B o s o S o e e e e B

-10 -8 -6 -4 -2 0 2 4

8) 10+ |6n+8| <26

12) |10+ x| +10<27

-28 -24 -20 -16 -12 -8 -4 0 4 8

14) —4|9p—10| <-76

N
\ 4

N
N4

18) 4|-3x- 10| <4

&1
ST T T T
—4 -3 -2 -1

A\ 4

math-worksheet.org



19) |1-10r| —6<-75 20) -8+ |10 - 5n| > 28

-8 -7-6 5-4-3-2-101 2 3 4 5 6 -6 5 4 -3 -2-10 1 2 3 4 5 6 7
21) [2-10m| +1<13 22) |9+ 10v| -8 <29
&1 1 1 1 1 1\ &1 1 1 1 1 1 1 1 1 1 1 L\
< T 7 T T T T T T T T T ™
-3 -2 -1 0 1 2 -6 -5 4 -3 2 -1 0 1 2 3 4 5

23) 10— |5x+2| <27 |8b+5|<3

24)

N
\ 4

N
A\ 4

T T T T T T
-4 -3 -2 -1 0 1 2

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 5)

1) No solution. : ¢4+—+—+—+——+—+—+—1
4 3 2 -1 0 1 2 3 4

2) { All real numbers. } : (_.8 I o 3’

3) -10<m<-2: (—l—_ow e >

-8 -6 —4 -2

10 8 -6 -4 2 0 2 4 6

17
4) —T<r<6: —+O

5) {Allrealnumbers.}:'(_:5 /R s e =

6)_9SXS3:<_|T::)‘-:8:-:6:-:4:-:2:(:):;.-:_|_> 7) No solution. : A
4 1

8) —4 <n < —: € O—t—t————O——> ) ——<a<(: &t —o® + —>
3 5 4 3 -2 1 0 1 2 4 -2 -1 0 1 2

10) k=12 or k<10 : Girt=@——————————-@=i==)
-12 -8 —4 0 4 8 12
5 9
11)—ZSns—:<: F—— Gl—————>

4 -4 3 -2 -1 0 1 2 3

12) 27<x<7: e d

-25 20 -15 -10 -5 0 5 10
2 21

27 2
13) —— < x £ — | - O——t———r———
8

8 4 3 -2 -1 0 1 2 3 4

29
14) p2?0rp£—1:

-6 -5-4-3-2-101 2 3 4 5 6

15) =5 <1 <9 ¢ -Quijl——(————
% -4

. -2 0 2 4 6 8§ 10
16) No solution. :
-5 4-3-2-1012 3 45 6 17

2
17) xs—;orx22:(! e

5 4 3 2 -10 1 2 3 4 5

11
18) —— < x <3 : €A—OmmmmO) : —
3 —4 -3

2 -1
19) No solution. :

8-7-6-54-32-1012345G6
20) { All real numbers. } :

£6-54-3-2-1012 345617

7
21) —1Sm£gi<: i O : =———>

-3 -2 -1 0 1 2

22) No solution. :

-6 5 4-3-2-101 2 3 4 5

39
23) x=7 or x < —— : i@ ——t—t———— Grimjjm
5 -8 —4 0 4 8 12
11 1
24) —— < b <= 4———@p——lp——1>
8 8 —4 -3 -2 -1 0 1 2

s mabh-weorksheeb-org
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ID: 6

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) -8[2+a| <24 2) -8 |9p-3|>-47
> —4——t—t—t— >
-10 -8 -6 -4 -2 0 2 4 \—6 -5 -4 3 -2 -1 0 1 2 3 4 5
|6k +1] 4) —5]2x+ 1| <-95
3) <1
2 D B e e e e e e e e e
12 -8 -4 0 4 8 12
S5 - 0 i 27
5) |-8x+2|+5<-17 6) 10+ |9+6n|<19
-8 -7-6 5 -4-3-2-10 1 2 3 4 5 \—:5 4I1 :3 :2 :1 (I) i/
|5~ 10m| 10 — 9x|
7)1 >3 g) <3
6 8
AR IS R S A DE T S T S A
|2r 9| 10) |-7v—-10| -8>-67
9) <2
2
-8 -7 -6 -5-4-3-2-10 1 2 3 4 5
-5 -4 3 —IZ -1 0 1 2 3 4/
11) 5+ |-6n—-9| >-52 12) |-3b-9] +10>31
-6 -5 -4-3-2-101 2 3 4 5 6 7 8 \—i4 —i2 —iO —:8 —:6 —:4 —:2 (:) ; ;1 é ;3/
|5 10n]| 14) [3x+2| +9>34
13) 1 <5
S -8 —:4 0 4 8 7
-6 -5 4 -3 -2-10 1 2 3 4 5 6 7
15) |3a—10| +9>13 16) —7|9x— 10| <7
NI A S LRI S S S S
17) =6+ |10k + 10| > 4 |2+n|
18) ——>5
DRI S S R
\—30 -20 —;0 (I) 10 20 7

W2 gegevs path-siorksheeh.ory th-worksheet
. math-worksheet.org



l6m +1] 20) -3|-2x+2| >-30
s 4

19)
10
-7-6-5-4-3-2-101 23456 7289

-8-7-6-5-4-3-2-10 12 3 45 6 7 8
21) 2+ |5+ p|>13 22) [1on+3] +8<111

-20 -16 -12 -8 4 0 4 8 12 N —12 i —I8 i —I4 i (I) i ;1 i é 7
23) [3+x|-3>8 24) =3+ |7+7m| <24
“—~—ttt+—t+—+—t—t+—t+—t—t+—t—t———>

-16  -12 -8 —4 0 4 8 -6 -5-4-3-2-101 2 3 45 6 7 8

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 6)
1) a>lora<-5: (-To-_l:o-rl—H—l-o-i-l-n-)

14
2)—4<p<?:<—|—|—cz 2O =

-6 5 4 -3-2-101 2 3 45

1 1
3) ——<k<—: €4 OO } >
2 6 -2 -1 0 1 2

4) x>9o0rx<—10 : GimmmO—t————————Olmi—)
. -12 -8 —4 0 4 8 12
5) No solution. : €4+—++t++++++++H+++> 6) -3 <n <0 : ——t—O—t—f— >
-5 -4 -3 -2 -1 0 1

84-76-54-3-2-101 23 435

23
7y m<———orm>—:
10 10 5 4 3 2 -10 1 2 3 4 5
14 34
8) —— < X < | - Oe——t——————>
9 9 2 -1 0 1 2 3 4 5

9)Nosolut10n-(- >
4 3 2 1

10) { All real Ilunlbels }: (-|—|—|—|—|—|—|-|—|—|—|—|—|-|-)

8-7-6-54-3-2-1012 3 435
11) { All real numbers. } :
12) b<-100ord >4:
-12 -8 —4 0 4 8
13) 4<n<5: <—|—|—.: .

-6 -5-4-3-2-101 2 3 456 7

23
Ih v —ory - -9 etk A ==
3 -12 -8 —4 0 4 8

6-5-4-3-2-1012 3 45678

14
15) a>—ora<?2:
3 -3-2-101 2 3 456 7 8 9

16) {Allrealmunbers.} ; (58575655j153 bt 6)
17) k>0o0rk<

-6 -5 4 3 2 -1 0 1
18) n>23orn<-27: (—I-OI—I—I—I—I—I—I—I—I—!-OI—)
19) { All real numbers. } : -(-|-|-|-|-|-|-|-|-|-|-|-|-|-|-|-|-|-)
20)—4<x<6 (—|—l—|—C:::::::::Q—|—I—I—)
21) p>10orp< 70 (—O ——t—

-20 -15 —10 -5 0

53
22) —?SMSIO:(—I-.—I—I—I—I—I—I—I—_I-.—)
23) x>8orx<-14: (-H-O—H—H+|—H—|—|—o-o—)

-16 -12
24) No solution. :

v -
—
o

£6-54-3-2-10123 4561738

s mabh-worksheeh.ory
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Assignment
Solve each inequality and graph its solution.

1) 7+ |-6n-9| 250

“~t——t+—t+—t+—t+—t+—+—t+—+—+—++
-5 4 -3 2 -1 0 1 2 3 4 5 6 17

3) [6b—9] +8>47

NS L S

5) 10|3 - 9v| 2 60

DI S S S S B S
| 10x - 10|

7)f22

52 o 0 1 2 3 4 s
9) 4|-2x+2| >-48

ML S S S S
11) |-1+3k| +4>18

-+ttt

-8 -6 -4 2 0 2 4 6 8 10

13) |8+r|+8>7

&—1 1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T T 7
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4

15) |5x+1|-5234

N

17) |2n-4| +1<11

-5 -4 -3-2-101 2 3 4 5 6 7 8 9

82T geavspath-worksheeh ory

Name

ID: 7

Date Period

p I8r=sl
4

&—1 1 1 1 1 1 1 1 1\
S T T T T T T T 7
-3 -2 -1 0 1 2 3 4 5

4) |-10-8x| +10>76
12 -8 -4 0 4 8 12

6) |-4a-10/-2>12
D B e e e e e e e e e e e e e e g

-10 -8 -6 -4 -2 0 2 4

. |8 — 10x] . s
7

-5 -4 -3 -2-1 01 2 3 4 5 6 7 8
10) |-sp+2|-1212

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

N
A\ 4

14) 108 +n| <20

&—1 1 1 1 1 1 1
S T T T T T T T T T T T
-6 -5 4 -3 2 -1 0 1 2 3 4 5

A\ 4

18) |8a—-9| +6<15

&—1 1 1 1 1 1 1 1\
S T T T T T T 7
-3 -2 -1 0 1 2 3 4

math-worksheet.org



| 7v - 8] 20) |4+4b| —1<3
——ls

19
) 7 /: } } } } } I\
N ) -1 0 1 2 3 7
-5 4 -3 -2-10 1 2 3 4 5 6 7 8
21) |-10-8x| 9> 61 22) 3+ |-8-9x| <14
N —;2 —I8I-I4 (I) i élt i ;5 n e 8-7-6-5-4-3-2-101 2 3 45 6 7
|9x -9 24) —10|5k—9| <-90
23) <5
NIV S R S B
NI I A

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 7)
1) { All real numbers. } : €imjrmjmjjjj—j—j—j—j—j—f—]

S5 4-3-2-1012 3 456 7
2y r>2o0rr<0:

3) b=8orb<-5: (-|—|—|oq—|—|—|—|—|—.-|—|—)
19

4) x<——orx =7 : Gttt O—i=—i=)
2 -12 -8 -4 0 4 8 12

1
5)v<—;mv>1 (-|—|—|—|-o|—. ettt

-3 2 -1 0 3 4 5 6

6) a<—-6ora=1: (-|-|-|-|-|-0-|—|—|—|—|—|-0-|-|-|-|-)-
-10 -8 -6 -4
7) x=2o0rx<0: (-I—I—I—O—I—O—l—l—l-)
8) { All real Illllnbels }: -(-|—|—|—|—|—|—|-|—|—|—|—|—|-|-)

54-32-10123456738
9) { All real numbers. } :
8-7-6-54-3-2-101 23 456

11
10) pS—Torp23:

-7-6-5-4-3-2-1012 3 4567

-8 -6 4 2 0 2 4 6 8§ 10
12) n>26o0rn<-9: (—n—m—l—l—l—l—l—l—o-n—n—)
13) { All real numbers. } Q i ==

7 6 5—4—3—2—10 1 2 3 4
14) { All real numbers. } :

13
11) /"ZSOrI\’S—?:(-I—I-.—l—I—l—l-.II—I—I-)

-6 54 -3-2-101 2 3 45

38
15) x> —or x < -8 : ¢—tmim@———————+-Grti=)
5 -2 -8 -4 0 4 8 12

14 26
16) ——<m<—:
3 3 -6 -4 -2 0 2 4 6 8§ 10

17) =3 <1 £ 7 : €Ol ———> 9
54-32-101234567829 18) O0<a<—: < t O O—f———>
4 3 2 -1 0 1 2 3 4
27 43
19) ——<v<—: .
7 7 54-32-101 2345678

20) 2 <b<0: H—Ommmip—g————} >
-3 -2 -1 0 1 2

i
3

15
21) x<-10or x > — : ¢=—trim@—t—t—t+—+—+—+——+G=i=P
2 -12 -8 —4 0 4 8

22) No solution. : €¢—+—+++—+++++++++++>

8 6 -4 2 0 2 4 6

23) No solution. : é+—+—+—+—+—+—+—+—+—+—>

4 3 -2 -1 0 1 2 3 4 5 6

24) k>—01k<0

-5 4 -2 -1 0 2 3 4 5 6

s mabh-worksheeh.ory
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Assignment
Solve each inequality and graph its solution.

1) [p-1]-2<-11

“—t——t+——t+——+——t+—+—+—t+—+—+—+>
-6 -5 4 -3 2 -1 0 1 2 3 4 5
3) -8+ |-5n—10| <7
N SR S S T S
|6+ 2n]
5) - <3
7
N -12 -8 —:4 : 0 4 8 7
7) =9+ |2m+2| <-1
-8 -7-6 -5-4-3-2-101 2 3 4 5 6
n+4
9)u<1
2
Y% 7 -6 -5 —:4 3 2 -1 o0 17
13b-7|
11) <4
2
MRV S S R S B
13) |8v—7| -5<20
\—5 -4 -3 2 -1 0 i 2 3 4 5 6 7/
15) 4|10a-8]| >8

N~ T : : : : : T T T T T
-5 -4 -3 =2 -1 0 1 2 3 4 5

17) 8- [6+3m| <-1

82T geavspath-worksheeh ory

Name

ID: 8

Date

Period

2) 9[8x+3| <27

A\ 4

&1l
S T T T
-2 -1 0 1

4) 6 |-om+3| <24
-8§-7-6-5-4-3-2-1012 3 45 6 7

6) —6— |-4+x| <20

8) |1+2r| —10<-25

&—1

<+ttt
-7 6 -5 -4 3 2 -1 0 1 2 3 4

10) |2x-8| +2<24
“—~—tt+—t+—t+—+—t+—t+—t+—t+—t+—t+—+—>

-8 —4 0 4 8 12 16

12) 1+ |6-8x| <19

DE T S T S S
14) 7|5 - 8k| <77

N T : : : : : : T T T T T
-6 -5 4 -3 -2 -1 0 1 2 3 4 5

16) |-9-9x| +5<77

&—1 1 1 1 1 1 1
S T T T T T T T T T T
-12 -10 -8 -6 -4 -2 0 2 4 6 8

A\ 4

18) |on-9| —10<-37

&—1

A\ 4

N~ T : : : : : T T T T T
-5 -4 -3 -2 -1 0 1 2 3 4 5

math-worksheet.org



lop—9| s 20) 8|2 +3r| >-32

19
) 7 /: } } } } } N
N -3 ) -1 0 i
-7-6-5-4-3-2-1012 3 456 7 89
21) —3|ox+8| <78 22) —7+|-3b+2| <2
-8 -7-6-5-4-3-2-101 23 45 6 7 \—:2 —Il (I) ; é 5/
23) |-7+2v| +1<12 24) |-7+3n| —4<-20
D B e e e e e e o e e o e e e e e e P
-4 -2 0 2 4 6 8 10 12 -8 -7 -6 -5-4-3-2-101 2 3 45

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 8)

1) No solution. : €¢4+—+—+—+—+—+—+—+—+—++1+> 3 i - P—— >
6 -5 4-3-2-101 2 3 45 2) ——<x<0:
4 2 -1 0 1

3) S<n<l1:

-8 -7 6 5 4 3 -2-10 1 2

11
4) m<-3 orm>?: et O el

-8 6 4 2 0 2 4 6

-12 -8 —4 0 4 8

6) x> 18 or x < —10 : GmtmmO—t—t——————+COrtmmm)

-15 -10 -5 0 5 10 15 20

7) =5 <m < 3 : é+-OnpmpmipmipipieimO—+——+>  8) No solution. :

8-7-6-54-3-2-1012 3 456 -7 6 5-4-3-2-1201 2 3 4
9) 6<n<-2:

-8 -7 6 5 4 -3 -2 -1 0 1

10)—7<x<15:(—l—_lsc:_:4: e O
11) No solution. :

27 15
5) —— < n £ — ;| Deim——|———————
2 2

-7 6 -5 -4-3-2-101 2 3 4

3
12) —— < x < 3 ;| €Ompj—p—j— >
2 2 -1 0 1 2 3 4 s
13) —2<v<4:
4 5 4-3-2-1012 3 456 7
14) { All real numbers. } : €=t R e

65-4—3—2—1012345

3
15) a>101'a<g:(-l—l—l—l—l—l-03—l—l—l—l-)

5 4 3 -2 -1 0 1 2 3 4 5
16) —9 < X <7 : <Ottt @ 1—
17) m=1lorm< 5 (-|-|-|-|-|-.-|—|—|—|—|-0-|-|-|-|-|-)

-10 -8
18) No solution. : (—I—I—I—I—l—l—l—l—l—l—l—)
-5 4 -3 2 -1 0 1 2 3 4 5
44 26
19) p>?0rp<——:(-l-H-I-O-I—|—I—H—H-O-I-I-H-)

9 % 4 -2 0 2 4 6 8

2
20) —2<r<§:<: i O 5 >

—4 -3 -2 -1 0 1

34
21) xZZorxS—?:(-l—l—l—l-.-l—l—H—l-.-l—l—H—l—)

-8 6 4 -2 0 2 4 6

22) —lsbsl: i) ———
3

-2 -1 0 1 2 3

23)—23vs9:<—r_02: @ ———>

0 2 4 6 8§ 10 12
24) No solution. :
8 -7-6-54-3-2-101 2 3 45

s mabh-worksheeh.ory
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Assignment
Solve each inequality and graph its solution.

1) 2|6n+2| >-44

-5 4 -3 -2-10 1 2 3 4 5 6 7 8

3) Ms4
3

N
A\ 4

L] L] L] L] L] L] L] L]

=5 —4 -3 -2 -1 0 1 2
5) 3 |2x—7| <-4

-3-2-1012 3 45 6 7 8 91011 12

7) 6|2-8n| > 84

&—1 1 1 1 1 1 1
S T T T T T T T T T T T
-6 -5 4 -3 -2 -1 0 1 2 3 4 5

SIELLLING
9

>

-8 -6 -4 2 0 2 4 6 8
11) 2+ |7n-9| <95
-8-7-6-5-4-3-2-1012 3 45 6 7 8

13) |3-9x| -6<27

4 1 AN
N 1 7
4 3 -2 -1 0 1 2 3 4 5
|-10x + 3|
15) >2
2
4 1 N
N 1 7
-3 -2 -1 0 1 2 3

17) |3v+3][-1>8

-9 -8-7-6-5-4-3-2-101 2 3 45

82T geavspath-worksheeh ory

Name

ID: 9

Date

Period

2) —4|-4x+2|>-24

&—1 N
< T T T T T T T 7
-4 -3 -2 -1 0 1 2 3 4

2 -7a
4 127 3
8
&—1 1 1 1 1 AN
S T T T T T T T T T 7
-4 -3 -2 -1 0 1 2 3 4 5 6
6) |6x—8| —8<-40
&—1 1 1 1 1 AN
S T T T T T T T T T T 7
-4 -3 -2 -1 0 1 2 3 4 5 6 7

8) 9+ |6p-8|<-5

-7-6-5-4-3-2-1012 3 456 7 8

10) -3|7b+4| <-72

-9 -8-7-6-5-4-3-2-101 2 3 45

12) —6|7r + 4| <24

>
14) |10b+3|-3>84
A
16) 2+ |~7+3n| >26
¢ ———————>
18) 22— |5+x| >-5

\ L] : : L] L] L] L] L] L] L]
10 9 -8 -7 -6 -5 -4 -3 -2 -l

math-worksheet.org



|5 - 6a |8x + 2]
19) < 20) <2
10 4

N -6 -5 4 3 2 -1 0 1 2 ; 4 5 6 4 N -3 -2 -1 0 1 2 -
21) 8- |2-7p|>-17 22) |-k-7|+7>15

\—3 -2 -1 0 1 2 3 e N —56 -12 -8 —4 0 4 7
23) 10]|-2x—-7| <90 24) =5|3n-7| <25

AR PR S S R AR IE I B A A B T

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 9)
1) { All real numbers. } : €immjmjmjmjjjjjj—j—j—j——]

5 4-3-2-1012 3 456738

2) —lsxsz:(—|—|—|—o—|—|—o—|—|—>
-3 -2 -1 0 1 2 3 4

11 1

3) —— <k < —: il @———>
4 4 -5 -4 -3 -2 -1 0 1 2
22 26

4) ——<a<—:
7 7 4 3 -2-10 1 2 3 4 5 6

5) x=7or x <0 : €ttt @ - @=tiimpi=)
-2 0 2 4 6 8 10 12

6) No solution. :
-4 -3 -2-10 1 2 3 4 5 6 17

3
7) n<——01nz7 (-.—.—n—l—m—n—l—o-l—n—n-)

-6 -5 4 -3 -2 -1 0 2 3 4 5

8) No SOlllthIl.. D LI B e e o o o e S
-6

-4 2 0 2 4 6 8

31 41
9) mM<——0rm>=— : Guim—t——t————- @iy
8 8

-8 6 4 -2 0 2 4 6 8

20
10) b>—orb<—4:
7 -9 -8-76-54-3-2-101 2 3 435

11) No solution. : €¢—+—+——+—+++++++++++1+1>

8 6 4 -2 0 2 4 6 8

8
12)r>00rr<—7:(: i l—j——

-4 -3 -2 -1 0 1 2 3

10
13) —?<x<4 Ottt — >

-3 2 -1

14) b>—'orb<—9 : s OOy
5 -12 -8 —4 0 4 8 12

1 7
15)x<—601x>ﬁ.(_.3 e OOt 5)

16) n>£orn<—7 B e e B B
3 -8 —4 0 4 8 12

17) v>2orv<—4:
-9-8-76-54-3-2-101 2 3 45

18) 8<x<-2:
-0 9 8 -7 -6 -5 4 3 -2 -1
19) No solution. :
-6 -5-4-3-2-1012 3 4 5 6
5 3
20) —— < x <— : €Ol >
4 4 -3 -2 -1 0 1 2
21) -1 < p < — | A —O—t—t—O———>
3 2 1 0 1 2 3
22) k<-150rk>1: (—n—ro+—|—|—|—|—|—|—+0t—|—|-)
23) 8<x<1: €40 0—|—>

9 8 7 6-5-4-3=2-10 1 2

2
24) 712401'71S;: e S B

4 -3-2-101 2 3 45 6 7 8

s mabh-worksheeh.ory
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ID: 10

Name
Assignment Date Period
Solve each inequality and graph its solution.
1) 2+ |8r—8|>-74 |4 +3m|
2) 54
7
-7-6 -5-4-3-2-1012 3 4 5 6 7
D
3) 1—[8n+5]>-60 4) |5-8x| +4>71
-+ttt “~+—tttt+tt+—t—r—t——>
-0 -8 -6 4 -2 0 2 4 6 8 N -8 —4 0 4 8 12
5) —7|3 +4b| >—63 |7 + 4v|
6) >4
4 } } } } } } } } ) 5
\—4 -3 -2 -1 0 1 2 3
—~—t+—+—t+—t+—+—t+t+—+—t+—+—t+t++—tt+—>
-8 -6 —4 -2 0 2 4 6 8
| 10 + 4| 8) [8a+3]-5>32
7)1 >5
2
9 8-76-5-4-3-2-1012 3 4567

A\ 4

N T : : : : : : T T T T T
-6 -5 4 -3 -2 -1 0 1 2 3 4 5

9) 8+ [1+3n]>24 10) —10|5 + 3k| > 100

\—50 —:8 —:6 —I4 —:2 (:) 5 ;1 (:) é IIO/ -7-6-5-4-3-2-101 23 456 7 8
|-9x— 6] 12) 8|3x+3| > 48

1) ——L 5

&—1 1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T T 7
-7 -6 -5 4 -3 2 -1 0 1 2 3 4

-7-6-5-4-3-2-101 2 3 4 5 6 7 8

13) |-5-6n| -9>-74 14) |-10m - 6| +4 > 60
D S T e e e e e o e B e e
-7 -6 -5 4 -3 -2-1 0 1 2 3 4 5 6 -8 -6 -4 2 0 2 4 6 8

15) |p-6|+6>-7

8-7-6-5-4-3-2-101 2 3 456 7 8

N
A\ 4

17) —7|8x—7| > 49 18) |4-8x| - 6>—-66
NS S L I S S R A
19 |-8r + 4| . 20) 3|-n+5|>-12

8-7-6-5-4-3-2-1012 3 456 78

W2 gegevs path-siorksheeh.ory th-worksheet
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22) 9|3b+ 5| >99

-9 -8-7-6-5-4-3-2-101 2 3 4 5

24) |6x+4| —9>47

N
\ 4

-8 -7-6-5-4-3-2-101 2 3 4 5 6

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 10)
1) { All real numbers. } : €imjmjmjmjmjjjjjjjjj—j=]

-7-6-54-3-2-1012 345617

32
2) m>8orm <—?: T e e e e S B

-12 -8 —4 0 4 8

33
3) —T<n<7:(—I—C — =04

108 6 4 2 0 2 4 6 8
31
4) x<——orx>9 : Gmm=O—4———————Olmmim)
4 -8 -4 0 4 8 12

5) —3<b<2: A Ol—t—t——
2 -4

6) 13 27
v>—orv<——:(—l-(>' ——t
4 4 0

3 7
7) X>—0r X < —— : “ulmmimmmimmimmie OO}
5 5 -6 -5 4 -3-2-101 2 3 4 5

17
8) a>Tora<—5:(-|-|-|-|-o-|—H—H—H—|—oH-|-)

17
9) n>501'n<—?:(-|—|—0—|—|—|—|—|-o-l—l—l-)

10) No solution. : €¢—+—+——+—+—+—+—+++++1++1+>
-6 -4 =2 0 2 4 6 8
11) { All real numbers. } : uimsjmjjmjujojjjjjjjjj
-6 -4 =2 0 2 4 6 8
12) x>lorx<-3:
-7 6 5 4-3-2-101 2 3 4
13) { All real numbers. } :

-7-6-5-4-3-2-101 2 3 456

31
14) ms—?orsz:(—l—. - @l

-8 6 4 -2 0 2 4 6 8

15) { All real numbers. } : imimfmjmjmjejejfjeffejeffefi=)

8 6 4 2 0 2 4 6 8
8

2
16) n <—orn>— : Guimjm— . ————
) 7 7 ‘-3 2 -1 0 1 2 3 4 5 6

17) No solution. :
8-7-6-5-4-32-101 2 3 4
18) { All real numbers. } : «Gmimmjmsjmjmjfoj—}

% -5 43 2-10 1 2 3 4
5

1
19) r<——orr > — : Gui—l—|—|—|—— il
4

4 -5 4 3 -2 -1 0 1 2 3 4

20) { All real numbers. } : "H'H'H'H'H'H'H'H""_s =

3 9
21)bs—7orb27:(: e

4 3 2 -1 0 1 2 3 4 5

16
22) b=2o0rb < —— : i@ @=iii=d
3 -9-8-76-5-4-3-2-101 2 3 435
8 32
23) vz—orv<——:
3 9 8-7-6-54-3-2-10123456

26
24) x> —or x < —10 : €==t=@————+——+—1—1+—0t=)
3 -12 -8 —4 0 4 8
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